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If the 9-digit number 89x64287y is divisible by 72, then what is the value of (3x + 2y)?
gfd 9 3l I TWAT 89x64287y, 72 I fAUST &, Al (3x + 2y) DI A T SRII?

2, ‘LL 3x8 +3x2
}1/7-—' C )a)so
% - (t;))) 31
] A) 25
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If p— 1/p = \7, then find the value of p° — 1/p3.
gfd p-1/p =738, dl p? - 1/p3 BT AF J1d DI

-1 p_!@"ﬁ a) 127
’ ) ! b) ¥

P - '3 :qvmx(l |

>‘\q+9 P> C) 87
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) . 12sin#+5cosd
If(tand f_ @ then find the value of ————.
A . 10/3
Q&ﬂ“\@f' b(m@,—(w@ \A])
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Sides of a triangle are in the ratio 5 : 5 : 8 If area of the triangle is 6912 cm?,
then what is the perimeter of the triangle?

Ueh FAYS DI YU 5: 5: 8 & 3Uld H ¢ dfc HAYS BT &Ahd 6912 JHI2 g, dl
ST T AT T 62 P‘-QUS‘CWQ

Wl a) 864 JHI

sza .("‘b) 108 3
44 Wszéﬁﬂ
? 3t 516 d) 216 W

_)J_}gu(%

k- - 416
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In a village 0% of the total population are effected in Coivd. Among them 40% are young and rest of
them whose ages are above 60 years. If the total population of the village in 62500, then find the total
number of covid patients in the same village whose age are above 60 year old?

U Tiid H H 3TETEl & 20% T BIfdS H GHIFA T1 STH & 40% JaT T 3R AV BI 317 60 I8 I 31feeh
& | fc 7id 1 D SR 62500 8, I 7iid T PIfds AT B Ha dweAr A1d Do, fSia! 31 60 99 9

31D 2 |00 % @l

oo a) 7050

5
(bow Jl's \p’)/?soo

(605% C) 6000
d) 7000
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Profit,earned by selling at Rs. 1540 is same as the loss incurred by selling the
article for Rs. 1140. What is the selling price of the article if it sold at @profit?

U g3 I 1540 39 H ddHR Hloid (1 -1 A1, 39 1140 39U H iE

Ux gl

ardil g1 & GHM o | Alc 59 25% & drH UR &1 T ¢ c||c1¢g,crn||qmu T 1
%? SF Ig'V:S_ 4,4(?

[0y — 10 b o a) Rs. 1600

V\/Cfgw \’Y\z‘mb) Rs. 1680

i C) Rs. 1520

.\? Rs. 1675
gP ol
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A destination can be reached in 6 hours with a speed of 80 km/h. But due to
some problems he reached there late by 10 hours, Find by what is the ratio of

both the speeds.

U Tided dab 80 fabHi/der ol Tifd 1 6 ©¢ H Ugdl Sl ¥bdl g | b1 B JHIATSH
b DRUIdg 10 ¢ Pl ol I Ugddl g, Il I1id DT 3391d ATd Dl |

R -
breo [ (I’MJ a) e
jl{bg b) 8:3

C) 9:1
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A tap canfill a tank in 4 hours but due to leakage in the bottom it take@eurs
more to fill the tank. In how many hours can the leakage empty a completely
filled tank?

Udh ¢l 4 9¢ HUD ¢b Y bdl g dfcbd dd H AT & HRUI b Pl U H 2 G
3H{eP 1 g | k19 foba- gei H O] aRg A HR <b @l dTcil DR hdl 572




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

If the product of two numbers is 1083 and their HCF is 19, then find the
numbers of such possible pairs is:

gic &l &3l 31 TUFWHE 1083 é‘ eﬁ? 3] HgdH GHUGD 19 B, dl 59 UDR

b JUIIdd ] D T J1d op
M a) 3

Qowf,
b) 5
Cc) 4
d)
-
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A sum of Rs. 8,000 is lent partially at 10% and remaining at 2% per annum. If
the yearly interest on the sum is 6% per annum.find the amount lent at 10% per
annum.

8ooowaﬁwﬁ[ﬁﬁwwﬁ@ﬁaﬁmwm
i ay &1 &R I YR AT Siar g | afe wlxﬂ&ﬂﬁaﬁ

10% Ufd 9y @ &3 A IUR dl 7T5 Y-RIRT JTd Hifor |

C) Rs.7000

d) Rs. 4000
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There are 1 inlet & 1 outlet pipes and ratio of their efficiency is 2 : 1. If inlet pipe
fills the tank in 12 hours, then in how many hours both the pipes will fill the
tank?

3R 1 303cdle TSy o 3l 3d! c&fdl &I 3HUld 2 : 1 o Ife gcic Uigy
&\'@ j
g

7 s e S ™ = ~, v - T\ ATy The The ) .
@ﬂn 1 & @l WRdl g, dl & bd-L HC H ¢H DI WR 4II?
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A bag contains 30 paise, (25 paise an(d 1
amounting to Rs.87. Find t

Uh a7 8 87 3UY P AR50 T
o110 U9 & Rigd| & =L

paise coinsintheratio7 :8:3
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In a groug

S
mple like only milk, 20% like only tea and 20% like only

coffee, If 2% like all the three drinks and 8% like both milk and coffee, 7% like
both coffee and tea and 9% like both tea and milk, then how many percent of

people like only two drinks?

U THg H 40% AN &) bdd g¥ UE §, 20% Dad 91 GG Hd & 3R
20% Hdd HIh] UlaG Hd §, dla 2% T diF UF Ue HId © 3R 8% q¥ 3R

HIHI Gl U-E B §, 7% DB 3R I/ Gl 9a Dd o 3R 9% 91 3R g

2l 93ie ®3d o, di fod- ufd=rd |1 S ad &l Ug Ui $3d 67

]

a) 22%
b) 7%
C) 18%
d) 15




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

In a group 40% people like only milk, 20% like only tea and 20% like only coffee, if 2% like all the three
drinks and 8% like both milk and_coffee, 7% like_both coffee and fea and 9% Yike both tea and milk, then

how many percent of people like only two drinks? ﬂ v/
U T H 40% NIl DI Had g8 TT §, 20% Hdfl 91 THE B ¢ 3R 20% dHad HIh! e B g,

aqfc 2% Tt i U9 Ui dHRd § 31R 8% G 3R ! TRIG PR T, 7% PIDT 3R =G 1 geig HRa
& SR 9% T 3R g8 GIHI GiE dd 6, dl fha- H|=Id T Shad al U Ge dd o2

Z

a) 22%

g b) 7%

CO&O d ) 15%
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Two cyclists A and B travel from city X to city Y, at speed of 60 km/h and 48
km/h. If the cyclists A takes 2 hours lesser time than cyclists B for the journey,
then what is the distance between the two cities ?

60 febeil/deT oiR 48 fabHil/der &1 <1el d <l Argfdhel dleidh A 3R B UgX X A UG Y
de STd & | Il ATslfdd dldd A T & T Aigfdhd dleid B &I -l H 2 U¢ &

JHY dl g, dl Gl eI & did Bl gl a1 g2
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13
324 18"

Find the value of x |f\j

X FT AT AT N, I Jl—i_m%

324 18

(A) 155 (B) 157
(C) 159 (D) 161
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